
w w w . a i r b o r n . c o m
(512) 863-5585

~AirBorn 

Hardware 
MM-MN-MQ-MP-MMHT-MQHT 

Jacking Hardware 

.475 
(.485*) 

.190 MAX 
.c.--......._ ( .185 MAX*} 

.125 HEX 
(.187 HEX•) 

#2- 56 UNC- 2A 
(#4-40 UNC-2A*) 

LPANEL 

#2-56 UNC-2B 

••••HEX NUT 

••••LOCK WASHER 
~
.093 MAX THK~ 

•• .070 MAX THK 
••• .040 MAX THK 

x .155 MIN THREAD 
(#4-40 UNC-2B 

x .170 MIN THREAD*) 

JACKPOST ASSEMBLY 
#2-56 JACKPOST 00-000-000-000- 2200 
#4-40 JACKPOST 00-000-000-000-6200 

fOR RECEPTACLES WIJH GROUNDING EJNGERS 
#2-56 JACKPOST oo-ooo- ooo-ooo- 2200- 0G7 
#4-40 JACKPOST 00-000-000-000-6200-0G7 

.125 MAX 
,r---r--!..----1...-(. 160 MAX*) 

.145 DIA 
(.220 DIA*) 

#2-56 UNC-2A x 
.090 MIN THREAD 

(#4- 40 UNC-2A x 
.110 MIN THREAD*) SEE DETAIL A 

REV G 
CTMAOOS 

SHORT CAPTIVE 
JACKSCREWASSEMBLY 

JACKSCREW, ALLEN HEAD 
FACTORY INSTALLED ONLY 

.030}§ 
SLOT HEAD 

~1/16" 
HEX 

ALLEN HEAD 

DETAILA 

____ .325 

(.382•) 

#2-56 UNC-2A x j 
.090 MIN THREAD 

(#4-40 UNC-2A x 
.110 MIN THREAD*} 

RETAINING RING 

.080 <-340••) 
(.098*} ( .397 .. •) 

.125 DIA 
.187 DIA*) 

SEE DETAIL A 

SHORT TURNING 
JACKSCREW ASSEMBLY 

#2-56 JACKSCREW, ALLEN HEAD 00-000-000-000- 4100 
#2-56 JACKSCREW, SLOT HEAD 00-000-000-000-4300 
#4-40 JACKSCREW, ALLEN HEAD 00-000-000-000-8100 
#4-40 JACKSCREW, SLOT HEAD oo-ooo-ooo-ooo-8300 

fOR RECEPTACLES W)JH GROUNDING FINGERS 
#2- 56 JACKSCREW, ALLEN HEAD 00-000-000-000-4100-0G7 
#2-56 JACKSCREW, SLOT HEAD oo-ooo- ooo- ooo- 4300-0G7 
#4-40 JACKSCREW, ALLEN HEAD 00-000-000-000-8100-0G7 
#4-40 JACKSCREW, SLOT HEAD 00- 000-000-000- 8300- 0G7 

#2-56 UNC- 2A x 
.090 MIN THREAD 

(#4-40 UNC- 2A x 
.110 MIN THREAD*) 

RETAINING RING 

.845 
(.880*) 
(.860**) 
(.895•••) 

, .600 

JACKSCREW ASS EMBLY 

.156 DIA MAX 
WITH KNURL 
(.200 DIA MAX*) 

#2-56 JACKSCREW, ALLEN HEAD 00- 000- 000- 000-4200 
#2-56 JACKSCREW, SLOT HEAD 00-000-000-000-4400 
#4-40 JACKSCREW, ALLEN HEAD 00-000-000-000-8200 
#4- 40 JACKSCREW, SLOT HEAD 00-000-000- 000-8400 

FOR RECEPTACLES W)JH GROUNDING F]NGERS 
#2-56 JACKSCREW, ALLEN HEAD oo- ooo- ooo-ooo- 4200- 0G7 
#2-56 JACKSCREW, SLOT HEAD 00-000-000-000-4400-0G7 
#4-40 JACKSCREW, ALLEN HEAD 00- 000- 000- 000- 8200- 0G7 
#4-40 JACKSCREW, SLOT HEAD 00-000-000-000-8400-0G7 

* =Dimensions for 100 position connectors 
** = Applies to #2-56 hardware for receptacles with grounding fingers 

••• = Applies to #4-40 hardware for receptacles with grounding fingers 
""** = Hardware for Receptacles with Grounding Fingers will come 

with a flat washers, lockwashers, and spanner nuts 

•M• Series Connectors 
MA- 5 



X-ON Electronics
 
Largest Supplier of Electrical and Electronic Components
 
Click to view similar products for D-Sub Tools & Hardware category:
 
Click to view products by  AirBorn manufacturer:  
 
Other Similar products are found below :  

000-01-09-132  000-01-21-132  000-01-31-162  572019-00105-70  000-01-37-162  621-250-113-115  D110550-2  D20418-137  780-518-50SG6-

WS  86552009  86553115TLF  86553117TLF  1230032-1  1-5021101-2  1589283-4  160-000-005R031  16-000230  160-025-004R031  160-000-

137R000  160-020-209R000  164C03939A  177-505-A-2-2  1-966830-8  21018-6  21028-2  2-1393560-9  JS-1000  L17D204182M3E 

L17D53018  300X10779X  160X10189X  160X10419X  160X10959X  162-000-050R000  21018-5  212561-3  248C21550X  CF15P 

QLOCKPOST-2  D110277  500-008NF1K-01  500-008NF3R3KS-01  500-017M09FN  500-017M15MHN  500-024M1  500-068M3  5-1393561-

5  C115373-0001  C115373-0002  3342-4-KIT  

https://www.x-on.com.au/category/connectors/d-sub-connectors/d-sub-tools-hardware
https://www.x-on.com.au/manufacturer/airborn
https://www.x-on.com.au/mpn/glenair/0000109132
https://www.x-on.com.au/mpn/glenair/0000121132
https://www.x-on.com.au/mpn/glenair/0000131162
https://www.x-on.com.au/mpn/apitechnologies/5720190010570
https://www.x-on.com.au/mpn/glenair/0000137162
https://www.x-on.com.au/mpn/edac/621250113115
https://www.x-on.com.au/mpn/itt/d1105502
https://www.x-on.com.au/mpn/itt/d20418137
https://www.x-on.com.au/mpn/glenair/78051850sg6ws
https://www.x-on.com.au/mpn/glenair/78051850sg6ws
https://www.x-on.com.au/mpn/amphenol/86552009
https://www.x-on.com.au/mpn/amphenol/86553115tlf
https://www.x-on.com.au/mpn/amphenol/86553117tlf
https://www.x-on.com.au/mpn/teconnectivity/12300321
https://www.x-on.com.au/mpn/teconnectivity/150211012
https://www.x-on.com.au/mpn/teconnectivity/15892834
https://www.x-on.com.au/mpn/norcomp/160000005r031
https://www.x-on.com.au/mpn/conec/16000230
https://www.x-on.com.au/mpn/norcomp/160025004r031
https://www.x-on.com.au/mpn/norcomp/160000137r000
https://www.x-on.com.au/mpn/norcomp/160000137r000
https://www.x-on.com.au/mpn/norcomp/160020209r000
https://www.x-on.com.au/mpn/conec/164c03939a
https://www.x-on.com.au/mpn/glenair/177505a22
https://www.x-on.com.au/mpn/teconnectivity/19668308
https://www.x-on.com.au/mpn/teconnectivity/210186
https://www.x-on.com.au/mpn/teconnectivity/210282
https://www.x-on.com.au/mpn/teconnectivity/213935609
https://www.x-on.com.au/mpn/kycon/js1000
https://www.x-on.com.au/mpn/amphenol/l17d204182m3e
https://www.x-on.com.au/mpn/amphenol/l17d53018
https://www.x-on.com.au/mpn/conec/300x10779x
https://www.x-on.com.au/mpn/conec/160x10189x
https://www.x-on.com.au/mpn/conec/160x10419x
https://www.x-on.com.au/mpn/conec/160x10959x
https://www.x-on.com.au/mpn/norcomp/162000050r000
https://www.x-on.com.au/mpn/teconnectivity/210185
https://www.x-on.com.au/mpn/teconnectivity/2125613
https://www.x-on.com.au/mpn/conec/248c21550x
https://www.x-on.com.au/mpn/norcomp/cf15p
https://www.x-on.com.au/mpn/norcomp/qlockpost2
https://www.x-on.com.au/mpn/jae/d110277
https://www.x-on.com.au/mpn/glenair/500008nf1k01
https://www.x-on.com.au/mpn/glenair/500008nf3r3ks01
https://www.x-on.com.au/mpn/glenair/500017m09fn
https://www.x-on.com.au/mpn/glenair/500017m15mhn
https://www.x-on.com.au/mpn/glenair/500024m1
https://www.x-on.com.au/mpn/glenair/500068m3
https://www.x-on.com.au/mpn/teconnectivity/513935615
https://www.x-on.com.au/mpn/teconnectivity/513935615
https://www.x-on.com.au/mpn/c-k/c1153730001
https://www.x-on.com.au/mpn/c-k/c1153730002
https://www.x-on.com.au/mpn/3m/33424kit

